SI. No. – site bills register	2262	- Date Regi	e – site bill ister	15-	11-23.	
Company Name:	MRMLLF	S. Site:		GM	· P.	
Name of Contractor	Mahave					
Nature of work		looring	Wox	k .		
Work done	From Date	8-11-		T)	11-23-	
Sl. Villa/Flat/block.nc No.		Rate	Units	Amount	Contractors bill no	
1. G-407 Hoom	u (67%) 911	18	SFT	16,398	•	
- tiles work 17	OUT .					
3. Stating 1		18	SFT	4410.		
4.				anna mara ann an ann an ann ann an ann ann an an		
6.						
8.	an a					
9.						
9.		-		1		
	otal:					
Bill required				29682		
	VES NO.	GST	bill requir		5 - ()	
estimate sheet:	Required		surement &	è Enc	losed	
PO/WO no.			PO WO date			
Remarks : 0.1	and the Company of Manager and Company of Manager		an a			
Remarks : AU	costy	comple	ted			
		1				
					an and a sume way you at a -	
Approved by Project Mar	nager Appr	oved by Des	agn Team	Approved		
Date:	M Date:			Approved	ey aldo	
Sign:	Sign:			Date:		

Construction division. Advice for giving credit to contractors suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bits, will for hire charges, earth work, turnkey civil contractors, 3. Wherever not applie able - 69 8A -4. Estimate in Empirical are not required for turnkey jobs where guideline rates are clearly a set.

ESTIMATE SHEET				Approved by: Narander	Reddy
Company Name:	MRMLLP			Sign:	rieddy
Project:	Gulmohar Residency			Sign.	
Work Description:	2' X 2' flooring tiles and bathroom tiles lay	ing inG 506			
Contractor Name:	Mahavir				
repared By	Srinivas.N				
ate:	19-07-2023				
S No.	Item Head	Item Description	Quantity Units	Rate Amount	
1	vetrified flooring	SBUA 1360sft (67%)	911.00 Sft	18 16,398	
2		Skirting 18%	245.00 rft	18 4,410	
3		(200sft per toilet)	400.00 Sft	18 7,200	
4	Ceramic	(93sft per flat )	93.00 Sft	18 1,674	
				29,682	

MEASUREMENT S	SHEET					Approved by:	Ramprasad	
Company Name:	MRMLLP					Sign:	prosent	
Project:	Gulmohar Residency					0.9.		
Work Description:	2' X 2' flooring tiles a	and bathroom tiles laying inG	J 506					
Contractor Name:	Mahavir							
Prepared By	Srinivas.N							
Date:	15-11-2023							
					C	D	E = AxBxCxD	F
			А	В	С			Units
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	
1	G 407	vetrified flooring				1.0		sft
		SBUA 1360sft (67%)	911.00	1.00				
		Skirting 18%	245.00	1.00	) 1.00			
		(200sft per toilet)	200.00	1.00	1.00	0 2.0		
	Kitchen & utility	(93sft per flat )	93.00	1.00	1.00	0 1.0	00 93	3 sft

-----

## Allowance for Consumables

Mahavir, Mallapur.

Date: 15-11-23

In favor of: MRMLLP Project / Site: Gulmohar Residency Location: Mallapur Type of Work: Tiles work Towards: Allowance for Consumables.

<u>S No.</u> 1.	Description	Amount
	Brief description of work done: Tiles laying work in G Block Flat No 407 Total Amount = 29682/-	Rs. 5936/-
	Work done from date 05.11.23 to date 11.11.23	

Amount in words: Five Thousand Nine Hundred and Thirty Six Rupees Only.

Sign: \_\_\_\_\_

## Bill for Equipment Allowance

## Mahavir, Mallapur.

Date: 15-11-23

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

5

$D_{a} = 11072/$
Rs. 11872/-

Amount in words: Eleven Thousand Eight Hundred and Seventy Two Rupees Only.

Sign: \_\_\_\_\_

## Mahavir, Mallapur.

Date: 15-11-23

In favor of:MRMLLPProject / Site:Gulmohar ResidencyLocation:MallapurType of Work:Tiles workTowards:Allowance for Consumables.

	S No.		
		Description	Amount
	1.	Brief description of work done: Tiles laying work in G	
		Block Flat No 407	
		Total Amount = $29682/-$	Rs. 11872/-
		29082/-	
L		Work done from date 05.11.23 to date 11.11.23	

Amount in words: Eleven Thousand Eight Hundred and Seventy Two Rupees Only.

Sign: \_\_\_\_\_